9 AIIPEJIA

YPOKB 7
KINACCE



«[MYTb B TbICA4YY
LLUAIOB
HAYUNHAETCH
YXE C MEPBOIO
LLUAT A»



LENNEYCTPEMJIEHH
OCTb
OBPA3OBAHMUE
3OOPOBbE
[NPOPECCUA



YCNELUHbIW
HEJIOBEK

Kakoro yenoBeka MOXXHO Ha3BaTb
ycnewHbIM?



POPMYIJIbl
COKPALLEHHOI'O
YMHOXEHUA N X
[NPUMEHERHWUE



«MOA NIECTHULIA
YCIIEXA»




... NpoBepb

cebHs
(a—b)?=a%—2ab + b?

(a + b)? = a% + 2ab + b?
a’—b%*=(a—Db)(a+Db)

(a+b)3=a’+ 3a’b + 3ab? + b’
(a-b)3=a’-3a%b + 3ab? - b’

a®+b3=(a+ b)@?-ab + b?)

a3 -b3= (a—Db)(@® + ab + b?)



YcTaHOBU

cooTBEeTCTBUE.:
4x* - 9y? I Aly3-8
27¢* — 8a° ; bix2-5x+6
4x* + 8ax + 4 3 Bl(c+2y)
(x-2)(x-3) 4 ['1(3¢ —2a)(9¢? + 6ac + 4a%)
(y-2)(y*+2y+4) |5 Al2x +2)*
6 E1(2x — 3y)(2x + 3y)

1E, 2I, 31, 4b,
5A




YNPOCTUTb BbIPAXKEHUS:

A) (X —3)% + X(X + 9)

b) 5a(a—8)—-3(a-2)(a+ 2)



PelunTb ypaBHEHUS:

1.(Xx—=5)2-x*=3

2.(6y—1)(6y+1)—4y(9y+2)=-1

3.(a-7)*+3=(a—-2)a+2)



PellinTtb

[BaghawmpCcTponkn BaccerHa
BblaerneHbl AeHbrn. baccenH

MOXET ObITb NPAMOYrofibHOM
UNn KeagpaTtHoOU dOPMBbI.
Kakon 0OaccenH BblrogHee
NOCTPOUTb, €CNIN  N3BECTHO,
yTo OJ/IUHa
rnpsiMoy20J/ibHO20
6acceliHa 6osnbwe OJNTUHBbI
KeadpamHO20 Ha 6_M, a
WupuHa rnpsiMoy20J1bH020
- MeHbuwe WUPUHBbI
KeadpamHoO20 Ha 6 M?







NTak, nooBegem
UTOIN. ..

13 - 18 6annoB -
«3»

19 - 24 6anna — «4»
25 -32 6annos —
«5».



CEIrOHA
) B



CIMACUBO 3A
BHUMAHWUE!



